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£

Naam: Datum: Score:
4 5 1 2
4= I— 4= =
5 8 2 3
5 2 1 1
S+l = 4=
7 3 g8 2

1 2 3 1
S+ = 1=+~ =
6 8 4 2
2 5 6 5

7 6 9 8

4 1 4 3

9 9 5 9

6 6 3 1
~ o= g
8 9 7 2
1 2 2 2

— 4+ == — 4+ - =
9 7 5 3

> 1 7.1
7 2 8 8

3 5 1 2
4+ = — 4+ - =
7 9 8 5

2 5 I 1
Sy = Dm 4 = =
9 8 2 4

www.snowmath.com


https://www.snowmath.com

optellen van breuken (gemengde breuk)

5_3_ 1
8 0 40
2.0 _,8
3 1 21
2 5
8 12
5_47_.5
6 2 42
1 5
9 9
6_17_.,5
9 1 12
2_2%
7 3
1 45 3
S RRVIRRSY:
5 62
9 3
56l
g8 7

Datum: Score:
JL,2_ 19
2 3 6 6
1 1 5
4+ ==
8 2 8
3,19 1
4 2 4 "4
6 5 31 7
—+ = =1—
9 8 2 24
4 3 17 2
4+ = =1=
5 9 1 15
3 1 27 1
Sl B
7 2 1 14
2 2 16 1
4+ =1—
5 3 1 15
Z+l:1
8 8
1 2 21
4+ =
8 5 0
S 1 13
2 4 4 T4

www.snowmath.com



https://www.snowmath.com

